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Algebra 2:

Chapter 8 – Review






Name: ________________________
1. Identify the following equations as linear, exponential growth, exponential decay, or neither.

a) x = 0

b) 
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Find an equation for the inverse.  Graph the function and its inverse, and find the domain and range for each.
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Write each equation in logarithmic form.
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Write each equation in exponential form.
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15. log(6)=y
Simplify completely.
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Write each expression in terms of 
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Write as a logarithm of a single number or expression.  Simplify completely.
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Let 
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.  Write each expression in terms of x and y.
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Solve each equation.
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Skip 58 and 59 

60. An investor withdraws $525 from an account he neglected for 8 years.  It earned 3.4% annual interest, compounded continuously.  How much was the initial deposit?

61. Mrs. Shah invested $4000 into an account that earns 4.5% interest compounded monthly.  How much money will she have in the account after 10 years?

62. When will the initial amount in #61 double?
64. Omar bought a new computer for $1600.  It is estimated that the computer’s value will decrease by 50% each year.  After how many years will the computer be worth $250?

65. Skip
66. Sandra wants to buy a new car with the money she makes from selling magazines.  She needs to put $1000 down by the end of the 20 week period.  If she gets $1.50 for each magazine sold, will she have enough to buy a car?

Review Solutions

#1-#7 Check graphs with your calc.

	1.  a) Linear

b) None

c) Decay

d) Decay
	2.  Inverse: 
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